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INSTRUCTIONS

o Print cut this file and complete the problems. You must do all the priblemns!

.

If the problem is from the tect. the section nunber and problem wunber are in parantheses.

Use a blue or black penor a penal (dark).

Write your solniiahs i the spaces provided. You must show work i order receive credit for a problem

Rewmember that yvour homework must be complete, neatly wntten aud stapled

.

Subtnit the completed sssignment to vour Teaching Assistant in lab on the due date

I vou do not o all of the problems, then your reciiation quiz from the previous Fridayv will automativally
become & ZERO
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